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Briiche multiplizieren Name:
L 6se jede Aufgabe. Antworten
D2 1 2 o1, 1_
4 3" 2 5 L
2.
3.
) 1.7 4) 19,3 a.
3 2 4 “4
5.
6.
7.
5 ,1.7_ 6 1.1_
2 2 5 2 o
9.
10.
7) lo 14: 8) 13.2:
3 5 3 3 H
12.
9 ,3,,1_ 10 14 14 _
24°%" 3 5
1) 1 10 2 1.1
2 4 3 3
1-10 | 9283 75|67 [58[50] 4233|2517 |
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Briiche multiplizieren

Name:

L dsungsschltissel

L 0se jede Aufgabe.

3)

5)

N1 14

9 _3 .1

1) 1 10

2 1 1
355"
sl 1_ 7
2 5 10
9 19 _3_
4 24'
19 11 _ 209
4 4 16
6 1. 1_
5 2
1.,1_1
5 2 10
8 .2 2
13 3
5 .,2_10
3 3 9
100 14 14 _
3 5
14 14 19
3 5 15
12) 1 1
133~
4 .1_4
3 3 9

Antworten
2
1 12
7
2 10
7
3. 6
209
4 16
49
5. 4
1
6 / 10
14
7 15
10
8. 9
99
9 16
196
10. 15
10
11. 8
4
12. / 9
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